
1

Supporting Information

Unsupported Nanoporous Platinum-Iron Bimetallic 

Catalyst for the Chemoselective Hydrogenation of 

Halonitrobenzenes to Haloanilines
Yuxuan Geng,[a] Chong Chen,[a] Zhanming Gao,[a] Xiujuan Feng,*[a] Wei Liu,[a] 
Yanhui Li,*[b] Tienan Jin,[c] Yantao Shi,[a] Wei Zhang,[b] Ming Bao,*[a,d]

a State Key Laboratory of Fine Chemicals, Dalian University of Technology, Dalian 116023, 
China

b School of Materials Science and Engineering, Dalian University of Technology, Dalian 116023, 
China

c Department of Chemistry, Graduate School of Science, Tohoku University, Sendai 980-8578, 

Japan
d School of Chemical Engineering, Dalian University of Technology, Panjin 124221, China

*Corresponding Author

*fengxiujuan@dlut.edu.cn; *yhli@dlut.edu.cn; *mingbao@dlut.edu.cn

Table of Contents

1. Characterization of Catalyst                                            S2

2. Comparative Experiments on the Activity and Selectivity of Several Catalysts    S4

3. Procedure for Experiment of Recycle Use of PtFeNPore Catalyst             S4

4. 1H NMR Spectrum of Deuterium-Hydrogen Exchange Reaction                 S6

5. Characterization Data of Products                                           S6

6. References                                                       S10

7. Copies of 1H and 13C NMR Spectra of Products                                                              S11



2

1. Characterization of Catalyst

0.0 0.2 0.4 0.6 0.8 1.0

5

10

15

20

25

30

35

1 2 3 4 5 6 7 8 9

0.000

0.005

0.010

0.015

0.020

0.025

Po
re

 v
ol

um
e 

(c
m

3 /n
m

·g
-1

)

Pore size (nm)

Fresh FePtNPore

V
ol

um
e 

ab
so

rb
ed

 (c
m

3 /g
)

Relative pressure (P/P0)

Figure S1. Nitrogen adsorption/desorption isotherm and corresponding pore size distribution 
curve (inset) of fresh PtFeNPore

Figure S2. (a) Pt L3-edge k2-weighted EXAFS oscillation k2χ(k) and (b) Fe K-edge k3-weighted 
EXAFS oscillations k3χ(k) of PtFeNPore. The data of Pt foil and PtO2, Fe foil, FeO, Fe2O3 and 
FeOOH are shown for references, respectively.



3

Figure S3. (a) The fitting curve of k2-weighted EXAFS spectra and (b) k2χ(k) oscillations of 
PtFeNPore at the Pt L3-edge using the ARTEMIS module of IFEFFIT.

Figure S4. (a) The fitting curve of k3-weighted EXAFS spectra and (b) k3χ(k) oscillations of 
PtFeNPore at the Fe K-edge using the ARTEMIS module of IFEFFIT.

Table S1. Summary of EXAFS fitting results of PtFeNPore at Pt L3-edge.

Sample Path C.N, R (Å) σ2 (10-3Å2) ΔE (eV) R factor

PtFeNPore Pt-Fe 2.2 2.66 8.8 6.3 0.0013

Pt-Pt 5.9 2.72 7.2 5.0

Table S2. Summary of EXAFS fitting results of PtFeNPore at Fe K-edge.

Sample Path C.N, R (Å) σ2 (10-3Å2) ΔE (eV) R factor

Fe-O 2.3 1.93 6.9 -3.1

PtFeNPore Fe-Pt 4.9 2.66 10.5 -7.3 0.0004

Fe-Fe1 0.9 2.66 10.5 -7.3

Fe-Fe2 0.8 2.99 13.7 -7.3



4

2. Comparative Experiments on the Activity and Selectivity of Several Catalysts

Table S3. Results of comparative experiments.a

X

NO2

X

NH2cat. H2 (balloon)

rt, MeOH (3 mL), 24 h

1 2

+
NH2

3
X = Cl, Br, I X = Cl, Br, I

Yield (%)b
Entry Cat. X of 

substrate 1 2 3
1 PtFeNPore Cl 90 0
2 Br 88 0
3c I 86 0
4 Pt/C Cl 82 11
5 Br 66 25
6 I 0 94
7 PdNPored Cl 35 55
8 Br 15 80
9 I 70 trace
10 FeNPore Cl NRe

11 Br NRe

12 I NRe

aReaction conditions: halonitrobenzene (1, 0.5 mmol), H2 (balloon), and catalyst (4 mol%) in 
MeOH (3 mL) for 24 h. b Isolated yield. cThe reaction was conducted in MeOH at 35 °C under H2 
(balloon) atmosphere. dThe hydrogenaion was catalyzed by PdNPore reported before. eNo 
reaction.

3. Procedure for Experiment of Recycle Use of PtFeNPore Catalyst 

4-Chloronitrobenzene (1b, 0.5 mmol, 78.7 mg), PtFeNPore (4.1 mg, Pt: 4 mol%, 

0.025 mmol), and MeOH (3.0 mL) were successively placed in a autoclave (20 mL) 

with a magnetic stir bar in a N2 atmosphere. The autoclave was purged thrice with H2. 

Then the autoclave was filled with H2 (balloon). The reaction mixture was stirred at 

room temperature for 24 h. Then, the remaining H2 was vented. The mixture was 

evaporated to afford crude product, which was purified via alumina column 

chromatography (eluent: ethyl acetate/petroleum ether = 1/5) to afford product 2b. 

The PtFeNPore catalyst was recovered by a magnet and purified by washing with 



5

acetone (4.1 mg). Then the recovered catalyst was used in the next recycle under the 

same conditions. 



6

4. 1H NMR Spectrum of Deuterium-Hydrogen Exchange Reaction

Figure S5 1H NMR Spectrum of Deuterium-hydrogen exchange reaction.

5. The Characterization of Products

The spectroscopic data of all the products are presented. All the known compounds 

were in accordance with the data reported in the literatures.

4-Fluoroaniline (2a)1

NH2

F

Red-brown oil (63.5 mg, 90%). 1H NMR (400 MHz, CDCl3): δ 6.86 (t, J = 8.6 Hz, 

2H), 6.74–6.48 (m, 2H), 3.49 (s, 2H); 13C NMR (100 MHz, CDCl3): δ 157.61, 155.27, 

142.44, 116.11, 116.03, 115.79, 115.57, 77.39, 77.08, 76.76.

4-Chloroaniline (2b)2 

NH2

Cl

Light yellow solid (57.4 mg, 90%), mp 69–71 °C (lit.3 mp 69–71 °C). 1H NMR (400 

MHz, CDCl3): δ 7.10 (d, J = 8.7 Hz, 2H), 6.60 (d, J = 8.7 Hz, 2H), 3.62 (s, 2H); 13C 

NMR (100 MHz, CDCl3): δ 145.01, 129.13, 123.11, 116.26, 77.43, 77.11, 76.79.

4-Bromoaniline (2c)2



7

NH2

Br

Light yellow solid (86.9 mg, 86%), mp 58–60 °C (lit.4 mp 58–60 °C). 1H NMR (400 

MHz, CDCl3): δ 7.10 (d, J = 8.7 Hz, 2H), 6.60 (d, J = 8.7 Hz, 2H), 3.62 (s, 2H); 13C 

NMR (100 MHz, CDCl3): δ 145.42, 132.02, 116.71, 110.22, 77.34, 77.03, 76.71.

4-Iodoaniline (2d)5 

NH2

I

White solid (94.2 mg, 86%), mp 61‒63 °C (lit.6 mp 61 °C). 1H NMR (400 MHz, 

CDCl3): δ 7.41 (d, J = 8.4 Hz, 2H), 6.47 (d, J = 8.4 Hz, 2H), 3.66 (s, 2H); 13C NMR 

(100 MHz, CDCl3): δ 146.08, 137.92, 117.32, 79.39, 77.39, 77.08, 76.76.

4-Bromo-3-methylaniline (2e)7 

NH2

Br

Me

Gray solid (80.9 mg, 87%), mp 81°C (lit.8 mp 80.7–81.2 °C) 1H NMR (400 MHz, 

CDCl3): δ 7.25 (d, J = 8.4 Hz, 1H), 6.57 (d, J = 2.6 Hz, 1H), 6.39 (dd, J = 8.4, 2.7 Hz, 

1H), 3.59 (s, 2H), 2.29 (s, 3H); 13C NMR (100 MHz, CDCl3): δ 145.66, 138.42, 

132.75, 117.47, 114.29, 112.94, 77.35, 77.03, 76.71, 22.88.

3-Bromoaniline (2f)9 

NH2Br

Light yellow oil (81.7 mg, 95%). 1H NMR (400 MHz, CDCl3): δ 7.01 (t, J = 8.0 Hz, 

1H), 6.91–6.85 (m, 1H), 6.83 (t, J = 2.2 Hz, 1H), 6.58 (dd, J = 8.0, 2.4 Hz, 1H), 3.71 

(s, 2H); 13C NMR (100 MHz, CDCl3): δ 148.33, 131.00, 123.17, 121.29, 117.93, 

114.06, 78.10, 77.78, 77.46.

3-Iodoaniline (2g)10 



8

NH2I

Light yellow oil (101.8 mg, 93%). 1H NMR (400 MHz, CDCl3): 1H NMR (400 MHz, 

CDCl3): δ 7.13–6.97 (m, 2H), 6.86 (t, J = 7.9 Hz, 1H), 6.62 (d, J = 7.9 Hz, 1H), 3.65 

(s, 2H); 13C NMR (100 MHz, CDCl3): δ 147.76, 130.79, 123.75, 114.32, 94.98, 77.41, 

77.10, 76.78.

2-Bromoaniline (2h)11 

NH2

Br

Light yellow solid (77.4 mg, 90%), mp 31 ºC (lit.12 mp 31 °C). 1H NMR (400 MHz, 

CDCl3): δ 7.44 (d, J = 8.0 Hz, 1H), 7.13 (t, J = 7.6 Hz, 1H), 6.77 (dd, J = 8.0, 1.4 Hz, 

1H), 6.65 (t, J = 7.6 Hz, 1H), 4.09 (s, 2H); 13C NMR (100 MHz, CDCl3): δ 144.19, 

132.65, 128.44, 119.48, 115.88, 109.39, 77.56, 77.24, 76.92.

2-Iodoaniline (2i)13 

NH2

I

Light yellow solid (97.5 mg, 89%), mp 57–59 ºC (lit.14 mp 57–59 ºC) 1H NMR (400 

MHz, CDCl3): δ 7.64 (dd, J = 7.9, 1.1 Hz, 1H), 7.17–7.07 (m, 1H), 6.75 (dd, J = 8.0, 

1.2 Hz, 1H), 6.53–6.43 (m, 1H), 4.08 (s, 2H); 13C NMR (100 MHz, CDCl3): δ 146.77, 

139.01, 129.35, 119.99, 114.74, 84.18, 77.37, 77.05, 76.74.

3-Bromo-4-Iodoaniline (2j)15 

NH2Br

I

Pale yellow oil (134 mg, 90%). 1H NMR (400 MHz, CDCl3): δ 7.52 (d, J = 8.5 Hz, 

1H), 6.98 (d, J = 2.7 Hz, 1H), 6.35 (dd, J = 8.5, 2.7 Hz, 1H), 3.74 (s, 2H); 13C NMR 

(101 MHz, CDCl3): δ 147.61, 140.26, 129.92, 119.00, 115.89, 85.59.



9

2-Chloro-1,4-phenylenediamine (2k)16 

NH2

H2N
Cl

Dark brown solid (65.6 mg, 92%), mp 61–62 ºC (lit.17 61–62 ºC). 1H NMR (400 MHz, 

CDCl3): δ 6.66 (d, J = 2.5 Hz, 1H), 6.63 (s, 1H), 6.49 (d, J = 2.5 Hz, 1H), 3.46 (s, 4H); 

13C NMR (100 MHz, CDCl3): δ 139.16, 135.19, 120.37, 117.39, 116.43, 115.58, 

77.45, 77.14, 76.82.

5-amino-1-bromonaphthalene (2l)18

Br

NH2

Brown oil (92.2 mg, 83%). 1H NMR (400 MHz, CDCl3): δ 7.80 (dd, J = 8.0, 4.7 Hz, 

2H), 7.75 (dd, J = 8.5, 2.4 Hz, 1H), 7.42 (dd, J = 8.0, 8.0 Hz, 1H), 7.31–7.26 (m, 1H), 

6.85 (dd, J = 7.6, 2.3 Hz, 1H), 4.19 (s, 2H). 13C NMR (100 MHz, CDCl3) δ 142.48, 

132.96, 130.17, 127.81, 124.93, 124.79, 123.70, 120.79, 118.18, 110.73, 77.41, 77.10, 

76.78.

6-chloro-pyridin-3-ylamine (2m)19

NCl

NH2

Light yellow solid (61.7 mg, 96%), mp 61–62 ºC (lit.19 60–62 ºC). 1H NMR (400 

MHz, CDCl3) δ 7.80 (d, J = 3.0 Hz, 1H), 7.04 (d, J = 8.5 Hz, 1H), 6.93 (dd, J = 8.5, 

3.0 Hz, 1H), 3.74 (s, 2H). 13C NMR (101 MHz, CDCl3) δ 141.90, 140.00, 136.28, 

124.87, 124.14, 77.44, 77.12, 76.81.



10

6. References

(1) Chatterjee, N.; Arfeen, M.; Bharatam, P. V.; Goswami, A. J. Org. Chem. 2016, 81, 
5120–5127.
(2) Yang, X.; Chen, B.; Zheng, L.; Wu, L.; Tung, C. Green Chem 2014, 16, 
1082–1086.
(3) Mazaheri, O.; Kalbasi, R. J. RSC Adv. 2015, 5, 34398–34414.
(4) Granados, A.; Shafir, A.; Arrieta, A.; Cossío, F. P.; Vallribera, A. J. Org. Chem. 
2019, 85, 2142–2150.
(5) Racys, D. T.; Sharif, S. A. I.; Pimlott, S. L.; Sutherland, A. J. Org. Chem. 2015, 
81, 772–780.
(6) Chen, X.; Ai, B.; Dong, Y.; Zhang, X.; Wang, J. Tetrahedron Lett. 2017, 58, 
3646–3649.
(7) Song, S.; Sun, X.; Li, X.; Yuan, Y.; Jiao, N. Org. Lett. 2015, 17, 2886–2889.
(8) Zhao, H.; Yang, X.; Lei, H.; Xin, M.; Zhang, S. Synthetic Commun. 2019, 49, 
1406–1415.
(9) Hyodo, K.; Hasegawa, G.; Maki, H.; Uchida, K. Org. lett. 2019, 21, 2818–2822.
(10) Lu, H.; Geng, Z.; Li, J.; Zou, D.; Wu, Y.; Wu, Y. Org. Lett. 2016, 18, 
2774–2776.
(11) Liu, J.; Wu, K.; Shen, T.; Liang, Y.; Zou, M.; Zhu, Y.; Li, X.; Li, X.; Jiao. N. 
Chem. Eur. J. 2017, 3, 563–567.
(12) Boruah, J. J.; Das, S. P.; Borah, R.; Gogoi, S. R.; Islam, N. S. Polyhedron 2013, 
52, 246–254.
(13) Hoshino, Y.; Shimbo, Y.; Ohtsuka, N.; Honda, K. Tetrahedron Lett. 2015, 56, 
710–712.
(14) Dasgupta, H. R.; Mukherjee, S.; Ghosh, P. Tetrahedron Lett. 2019, 60, 151028.
(15) Lee, S. H.; Jang, B.; Kafafi, Z. H. J. Am. Chem. Soc. 2005, 127, 9071–9078.
(16) Thakur, M. S.; Nayal, O. S.; Rana, R.; Kumar, M.; Sharma, S.; Kumar, N.; 
Maurya, S. K. New J. Chem. 2018, 42, 1373–1378.
(17) Cheung, C. W.; Surry, D. S.; Buchwald, S. L. Org. Lett. 2013, 15, 3734–3737.
(18) Gao, X.; Zhang, Y.; Wang, B. New J. Chem. 2005, 29, 579–586.
(19) Kim, J.; Chang, S. Chem. Commun. 2008, 3052–3054.



11

7. Copies of 1H and 13C NMR Spectra of Products 

1H NMR, 400 MHz, CDCl3

-4-3-2-10123456789101112131415
f1 (ppm)

2.
00

2.
01

1.
98

3.
49

6.
60

6.
61

6.
61

6.
62

6.
63

6.
84

6.
86

6.
88

7.
26

NH2

F

2a

13C NMR, 100 MHz, CDCl3

-100102030405060708090100110120130140150160170180190200210
f1 (ppm)

76
.7

6
77

.0
8

77
.3

9

11
5.

57
11

5.
79

11
6.

03
11

6.
11

14
2.

44

15
5.

27
15

7.
61

NH2

F

2a



12

1H NMR, 400 MHz, CDCl3

-4-3-2-10123456789101112131415
f1 (ppm)

1.
99

2.
00

2.
00

3.
62

6.
59

6.
61

7.
09

7.
11

7.
26

NH2

Cl

2b

13C NMR, 100 MHz, CDCl3

-100102030405060708090100110120130140150160170180190200210
f1 (ppm)

76
.7

9
77

.1
1

77
.4

3

11
6.

26
12

3.
11

12
9.

13

14
5.

01

NH2

Cl

2b



13

1H NMR, 400 MHz, CDCl3

-4-3-2-10123456789101112131415
f1 (ppm)

2.
00

2.
00

2.
00

3.
59

6.
48

6.
50

7.
16

7.
18

NH2

Br

2c

13C NMR, 100 MHz, CDCl3

-100102030405060708090100110120130140150160170180190200210
f1 (ppm)

76
.7

1
77

.0
3

77
.3

4

11
0.

22

11
6.

71

13
2.

02

14
5.

42

NH2

Br

2c



14

1H NMR, 400 MHz, CDCl3

-4-3-2-10123456789101112131415
f1 (ppm)

2.
00

2.
00

2.
00

1.
26

3.
66

6.
46

6.
48

7.
26

7.
39

7.
42

NH2

I

2d

13C NMR, 100 MHz, CDCl3

-100102030405060708090100110120130140150160170180190200210
f1 (ppm)

76
.7

6
77

.0
8

77
.3

9
79

.3
9

11
7.

32

13
7.

92

14
6.

08

NH2

I

2d



15

1H NMR, 400 MHz, CDCl3

-0.50.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.59.09.5
f1 (ppm)

3.
06

2.
00

0.
96

0.
96

1.
00

2.
29

3.
59

6.
37

6.
38

6.
39

6.
40

6.
56

6.
57

7.
24

7.
26

NH2

Br

CH3

2e

13C NMR, 100 MHz, CDCl3

-100102030405060708090100110120130140150160170180190200210
f1 (ppm)

22
.8

8

76
.7

1
77

.0
3

77
.3

5

11
2.

94
11

4.
29

11
7.

47

13
2.

75
13

8.
42

14
5.

66

NH2

Br

CH3

2e



16

1H NMR, 400 MHz, CDCl3

-4-3-2-1012345678910111213141516
f1 (ppm)

2.
01

0.
99

1.
02

1.
00

1.
01

3.
71

6.
57

6.
57

6.
59

6.
59

6.
82

6.
83

6.
83

6.
87

6.
87

6.
89

6.
89

6.
99

7.
01

7.
03

7.
26

NH2Br

2f

13C NMR, 100 MHz, CDCl3

-100102030405060708090100110120130140150160170180190200210
f1 (ppm)

77
.4

6
77

.7
8

78
.1

0

11
4.

06
11

7.
93

12
1.

29
12

3.
17

13
1.

00

14
8.

33

NH2Br

2f



17

1H NMR, 400 MHz, CDCl3

-4-3-2-1012345678910111213141516
f1 (ppm)

2.
00

0.
99

1.
02

1.
94

3.
65

6.
61

6.
63

6.
84

6.
86

6.
88

7.
05

7.
06

7.
08

7.
26

NH2I

2g

13C NMR, 100 MHz, CDCl3

-100102030405060708090100110120130140150160170180190200210
f1 (ppm)

76
.7

8
77

.1
0

77
.4

1

94
.9

8

11
4.

32

12
3.

75

13
0.

79

14
7.

76

NH2I

2g



18

1H NMR, 400 MHz, CDCl3

-4-3-2-1012345678910111213141516
f1 (ppm)

2.
00

1.
01

1.
02

1.
01

1.
00

4.
09

6.
63

6.
65

6.
67

6.
76

6.
76

6.
78

6.
78

7.
11

7.
13

7.
15

7.
26

7.
43

7.
45

NH2

Br

2h

13C NMR, 100 MHz, CDCl3

-100102030405060708090100110120130140150160170180190200210
f1 (ppm)

76
.9

2
77

.2
4

77
.5

6

10
9.

39
11

5.
88

11
9.

48

12
8.

44
13

2.
65

14
4.

19

NH2

Br

2h



19

1H NMR, 400 MHz, CDCl3

-4-3-2-1012345678910111213141516
f1 (ppm)

2.
00

1.
03

1.
03

1.
02

1.
02

4.
08

6.
46

6.
46

6.
48

6.
50

6.
50

6.
74

6.
74

6.
76

6.
76

7.
12

7.
12

7.
14

7.
16

7.
16

7.
26

7.
63

7.
63

7.
65

7.
65

NH2

I

2i

13C NMR, 100 MHz, CDCl3

-100102030405060708090100110120130140150160170180190200210
f1 (ppm)

76
.7

4
77

.0
5

77
.3

7
84

.1
8

11
4.

74

11
9.

99

12
9.

35

13
9.

01

14
6.

77

NH2

I

2i



20

1H NMR, 400 MHz, CDCl3

-2.5-2.0-1.5-1.0-0.50.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.59.09.510.0
f1 (ppm)

2.
00

1.
00

0.
98

0.
97

3.
74

6.
33

6.
34

6.
35

6.
36

6.
98

6.
99

7.
26

7.
51

7.
53

NH2

I

Br

2j

13C NMR, 100 MHz, CDCl3

-100102030405060708090100110120130140150160170180190200210
f1 (ppm)

76
.7

5
77

.0
7

77
.3

9
85

.5
9

11
5.

89
11

9.
00

12
9.

92

14
0.

26

14
7.

61

NH2

I

Br

2j



21

1H NMR, 400 MHz, CDCl3

-0.50.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.59.09.5
f1 (ppm)

4.
00

1.
01

1.
01

0.
99

3.
46

6.
48

6.
49

6.
63

6.
66

6.
67

7.
26

NH2

NH2

Cl

2k

13C NMR, 100 MHz, CDCl3

-100102030405060708090100110120130140150160170180190200210
f1 (ppm)

76
.8

2
77

.1
4

77
.4

5

11
5.

58
11

6.
43

11
7.

39
12

0.
37

13
5.

19
13

9.
16

NH2

NH2

Cl

2k



22

1H NMR, 400 MHz, CDCl3

-4-3-2-1012345678910111213141516
f1 (ppm)

2.
00

0.
98

1.
11

1.
00

1.
00

2.
00

4.
19

6.
84

6.
84

6.
86

6.
86

7.
26

7.
28

7.
29

7.
30

7.
31

7.
40

7.
42

7.
44

7.
74

7.
74

7.
76

7.
76

7.
79

7.
80

7.
81

7.
82

NH2

Br

2l

13C NMR, 100 MHz, CDCl3

-100102030405060708090100110120130140150160170180190200210
f1 (ppm)

76
.7

8
77

.1
0

77
.4

1

11
0.

73
11

8.
18

12
0.

79
12

3.
70

12
4.

79
12

4.
93

12
7.

81
13

0.
17

13
2.

96
14

2.
48

NH2

Br

2l



23

1H NMR, 400 MHz, CDCl3

-4-3-2-1012345678910111213141516
f1 (ppm)

2.
00

0.
86

0.
92

0.
86

3.
74

6.
92

6.
93

6.
94

6.
95

7.
03

7.
05

7.
26

7.
80

7.
81

N Cl

NH2

2m

13C NMR, 100 MHz, CDCl3

-100102030405060708090100110120130140150160170180190200210
f1 (ppm)

76
.8

1
77

.1
2

77
.4

4

12
4.

14
12

4.
87

13
6.

28
14

0.
00

14
1.

90

N Cl

NH2

2m


